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State the end-behavior of each.
1.y =7x3 - 14x|- 6x4-13x? + 43
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2.y =5X(3 - 4x)3(7- x)3(3x + 1)?
O\éé e_XPonQV\,‘(‘S :02 = oD )
Leeding Cocfl 3 Pos </) /‘
(DEPEP(H hkealine
= (EEM=+ PR i

Find the actual degree and leading coefficient.

y = -6X3(3% - 4)3(7- 5x)2(2x+11)(12 - X)°
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Coming next Chapter :

Simplify each: ?ijﬁ;
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square root of 64 is 8 cube root of 8 is 2 /9’5
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when taking the square root
of variables with exponents you
divide the exponents by 2.
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when taking the square root
of variables with exponents you
divide the exponents by 2.



To solve a radical equation you follow
Solve. these general guidelines:
1. Isolate the radical

I¥—D &3 =7 2. Raise both sides to the power that

_ - cancels the radical
Subtract 3 from 3 = 3. Finish solving for x.
both sides

R—=g =5
square

2 (xmz) =)

add 2 to ><, 2. = l(o
both sides + +2

X =18




